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· 1. � o.MR �-�·rrr J11RT 1.
1lFI' 'jffrl<f;I iil,ll_jq; ( 10 � 'iii!)
�fc:rrff,

Candidate must enter his /·her. 
Question Booklet Serial No. .

· (10 IJtgits) ·tn t� OMR Answe_r
.Sheet.

2. trmm/f � 3fTR �-lf if
�-�,

2. Candidates are · required .to give

their answers in their own words
· as far as practicable.

3. iiTM4J 311( ifJfhiJ ·w � s1I" � 3. Fi�res in the right hand margin

� AAce mt,
. 

indicateJutt mar1cs;· 

·4, wt;# · cfi1' U//rt�cfq-; � � Wfl[. 
. -� cn7 15 � q;r 3/kfR.ffl 

. . � WlT T/7:/T t,

4. 15 .,.minutes of extra. time ·have
been allotted for the candidates to
read the questions carefully·.
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5, � m 9®ct>I � &us)' 1t t-
�-Jf r:rcf &O:S-o1/--- . _.....;__ __ 

[ 11s J 

5. This question. booklet is diuided

into two sc:c�ions -­
and Section-B. 

Sert:1on.-A - .. . 

6. &O:S-Jr 1' 70 4-R:JH#d f1'R" f, 6. In Section-A, there are
7(! objective type questions, out 
of which any 35 · questions are · 
to be answered If more than 
3S- questions a.re a_nswered, then 
only first 35 will be evaluated. 
Each question · carries 1 mark. 
For answering these darken the· 
ci�cle with blue I black ball pe,a . . 
against (he correct option on OMR

Answer Sheet provided.to.you. Do 

P,qif .ff fil,.efj. 35 TTRT "cfiT �

· � a,A�114 t, .·35 w-:ff ff-�
cfiT 3ffi' # W- � 35 cfiT eft .
'i,("'4ict,rf fflT I Jlf4ct, � · � : i ·3Pfr
� t, � '"3rn #'* ffrr[
d4Hd.f Cf></4 Tf(! OMR ��� if
� Tf1! � fqc1,t,,q cm- .fiR- I m­
ilfc;r, 1R' ff ·WTTG #1 filim tff
R¥U $' &i$Z..,t I 'nfR' W'ef I
� I ..,,<fl.., .� "ifiT OMR �-

. � 1f ucJ111_ ¥t..,, -q..,'1' t, �
. -� qfio1111 �Ill.fl w,r I 

7. &o:s - 'of" 1f- 20 MV aw:/iq 11R. 
f I RMcf, � ff;rl[ 2 3fct; � t,
Pt.-,if * fil,.�r 10 'f/1:rT 'iliT �
rn a,P,414" t , �· ,31mfim w

� 71 6 efW ddfl4 � � ipf

-f, RNCf> . � � 5 3rc1i Ff!llITTf t,
· Pt.-,,J" -s- fil;./f 3 'RF((" "ifiT ffl" t.:ir

a,P,4,4 t,

. . 

not use whitener / · liquid / 
blade / nail · etc, on OMR· . . ' .. 
Answer Sheet, otherwise the 
result wfll be treated invalid. 

7. In Section - B; there are 20 short .
answer type 'lUestions. Each
carryi�g 2 marks, out of which 

. any . 10 questions are to be 
ans�red. . Apart from these,

there are 6 - tong , answer

type . questions, each carry�ng 
s marks. Out of which any ' 
3 · questions are : to be

answered 

8.· fct;-m- � el> $H�7P.,c1, 34cti<OJ."efiT 8. Use of any electronic appli�nces is
'JTlll1T ��f rl41 4M.rl 't I strictly prohibited. 
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II 
(§(0� - al/ SECTION - A

4,fijf.:tta �/Objective Type Q�estion_s

[ 118 ] 

· JTR #1.941 1 * 70 n(fj eir »RJq; rwr ck- 'R1ll W1f fctcli� fc(v. 71f! t, R,,..,,f �

f!cFr mfl- t, 31fR" 6'71' y.=t :rrrr � Jacjjt,q qi7' oMll me f17 R:i�..,rl �, t,;;eft_·
35 X 1; 35 

·Question Nos. 1 to 70 havE! four opti?ns, out of ti.:hich only one. is correct.

You have to mark your selected option, on the OMR Sheet. Answer any

35 questions. 35 X J � 35

(A) Ag+ (B} .. Cu 2+

(C). Zn 2+ (D} Au
+

Which of the following ions of transition elements is paramagnetic ? · 

(A) Ag + (B) · Cu 2+

/) 
y Zn 2•

(DJ Au•. 

V 
_- r-1�rMr@a ��� .. � ���t?

(A) Fe, C� 3=fR Ni · · (B). Cu.� Zn

(C) Cu,Ag � Au (D) . ·Au* Pt

Which of the·following is called coinage metals? 

(A) 

(C) 

Fe, Co and Ni -� CuandZn

Cu, Ag and Au (D) Au and Pt

. !INT-A-23/2505-(6/10) I Page 3 / 32 
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II 
3. 

5. 

. I 11s J 

(C) . cr-R

Who gave the first important theory. of coordination compounds.? 

.. 
(A) Slater Pauling 

·(C) . Werner (D) . · Lewis·

{C) �-.
(D) 41Z:1�1 �

' 

. Which of the following is an example of double sajt ? 

(A) Bleaching powder � K
4 

[ ·Fe(CN)6] 

{C) Hypo (D) Pot-ash alum

f.-1i:::tfMf@ct � � � cill�;g2c: fc1�l:S t' ? 

(A) . t.ir.ir.�. (B) -�Ml� S!�Qi:o-1

(C) ._ Qm22. 3WFf . (D} fGR�"H 

Which of the following i� a bidentate ligand ·? 

(A) . E.D.T.A

(C) Acetate ion

(8) Ethylene diamine·

(D) Pyridine 

PNT-A-23/250�-(6/10) I Page 4 / 32· 
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6. 

7. 

Jf 

(A) + 1

(C) + 3

(B) . + 2

(DJ + 4
. 

. 

· The·oxydation num_ber of Pt in [Pt(C2H4 )CI3 r is

(A) + 1

(C) + 3 .

(A) 

(C) C1½ =CH-C1½C1½CI

� +2

. (D) + 4

(D) HC=C-Br

Which of the following is Vinyl halide ? 

Br 

(A) C1½ =CH-CHBrCH3 . (BJ 
I 

-CH3-C-:-CH2

59 
CI-Ii . CH - C1½C1½Cl (D) HC=C-Br

Q;;ifl�l4 � � 

(A) cfilcifl�I��?. (B) R-ffq:g

(C) m2.1-1 (D) �tl�-�

Enzymes are 

(A) Carbohydrates (8) Lipids

� 
Proteins (0) None of these

I INT-A-23/25q5-(6/10) I 
. 
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(A) 

(C) 

(8) 

(D) 

R 
'c=O 

R/ 

R 
'c=O

HO/ 

Which of the following is ether·? 
R,. . . . n:�1/ R, -W �/c �o 7 R/c-o
R·-�·< · R · . 
R/o . (D) · HO_::-c = o

[ 118 J 

� s1�Qs111f.:i44 r.tfll{l�i �- '1J�14 fci<-P:H � �· _cn'R � f:qyf�f�a � �
� '>ff<{'f mc=rr t ? 

(A) �Zilt-i (B) �J11�<1 Qi;,qil�I.M

(C) . f'-h..flM (D) r.ffil{l.ijSil-1 .

Which of the following· is obtained on heating aqueous solution. �f 
. . 

. 
. 

benzene diazonium chloride ? 

(A) Benzene · {B) Benzyl alc_ohol

· , �Phenol . (D)
.
Chlorobenzene

11. '7f<if lhlMch � � � i-I
2

so
4
<t � Tllt ·M � � � f.:iYfMf@a �

���mmi? 

(A) CO 2 (B) CH3HS0�

(C) 3ilc:MfMch -� · : (D) CO 

Which of the following :is obtained when formic acid is heated with
cone. H2S04? : · · 

(C) Oxalic acid

(B) CH 3 HS0 4

.JPf co .

I INT-'A-23/2505-(6/10) I Page 6 / 32 
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11 r 11s 1 

OH 
I , 

• 

$-CI13-CH-COOH <fir IUPAC � t

(A) �fck.&> �. (8) . 2-(;l��)cffil 5ijqrl)�q; �

. OH 

The IUP�C name of CH3-tH..:... COOH is 

(A) Lactic acid � �:Hydrozy prop��oic :cid

. (�) Propanoic acid
. 

. 

(DJ None of these 

'13. . f�Cif<"lf@ct -q- ti� dc-=1.-t.q)T � °t ? 

(BJ Cu(OH)2

(D) CuO ·

Which of the following is Tollen's reagent ?

(B) Cu(OH) 2 :

(C) Ag
2

0 (D) · CuO .

14. P11-1f�f�a ll tl � �f.,-iiR) � -tc;r t- ?

(A) CH 3 CHO
�O ..

(C) HCOOH (D) CH.
3 

COCH 
3

Which of the following gives Cannizzar�'$ reaction ? · 

(C) HCOOH

(B) HCHO

(D) CH 3 COCH�

I INT-A-23/2505-(6/10) I Page 7 / 32 
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15. 

16. 

(A) 

(C) 

(B) · �c:fc.1 U

(D) �tj_M1'71

[ 118 ] 

Which o(. the following carbohydrates is the most abundant in 
nature? 

{A) Glucose
.

(C) Starch

(B) fructose

· ff Cellulose

f�8fMf@a 1l � .cfil;, ·:s1���.u�s � ll � � � ? . 

(A) 

(C)
' 41Rift

(B) #lcR.1.fi

.(b) ���� 

.Which of the following disaccharides is present in milk?. 

(A) · Sucrose

(C) · .. Maltose

(A) ilt$41rl

�- Lactose.

. ' 

(D) None of these

(B} {R�((1 

Which of the following is the chemical name of vitamin A ? 

(A) Thiamine

y' Ascorbic acid 

(B) Retinal

(D) Nicotinamide

I INT-A-23/2505-i6/10) I }:'age 8 / 32 
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(A} A 3fR B

(C) B� C

(B) ·c� D

(D) .·A�D

Which of the following vit�ins are soluble in water ? 

(A) ·A and B

,y/. BandC

(A). �14{1�:S 

.(C) � 

(B) Cand D

. (D) A and D

From which of the following is insulin secreted ? 

(A) Thyroid

. (C) Adrenal body 

(A) �-�

(C) �8;llifficf>l"cfilTI'

· (B) · Pancreas

. ·(D) . None of th�se

(B) �

.(D) ���� 

Which of the following diseases is caused due to the deficiency of

Vitamin E?

(A} Beri-beri -� Scurvy

(C) Anti-fertility (D} None of these

I INT-A-23/2505-(6/10) I Page 9 / 32 
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(A) 

(C) 

(B) 

(D) 

Natural rubber is a polymer of which of the following ?

(A} . Ethylene 

� Iso_prene
Cfi:3 

22. CH3-?-Br q:;r IUPAC � t
CH3 

(C) 2-m-2-� �

(D) 2, 2-$1�il�M-1-�

CH 

(B) Benzene

(DJ None of these

. I a
The HJPAC name of CH

3
-y-Br is 

CH3

(A) Tertiary butyl chloride

(B) Secondary butyl chloride

(C) 2-bromo-2-methyl ·propane

� 2-du<1ethyl-1-bromoethane 

· 1 INT-A-23/2505-(6/10)_ I
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II �� ................. -:rn-rrl-TT 

r 11s i 
23. Q�H �Ml�s cfiT aq;q)rr fqyf�f@rt 1l "lt f&,fiiti f14101 1l � t ?

(A) cg:,�-1 (B) ({("i::f, l 1

(D) ���

Alkyl halides are used for the preparation of which of the following.? 

(A) Alkane

(C) Alcohol

(B) Alkene

(D) All of these
. . 

24. f�i:tfHf@ct ll �- � ��Ith �-� �-3TiqUt t ?

(A) . CH
3 

Cl·. ·(B) .· CHc1;

(C) CC1
4

Which of the following compounds has.zero dipole moment ?_. 

(A) CH3 Cl �HCI3_
(D} CH2CI2 

(A) (B) 

(C) � (D) .. $FT

Chloroform on ·reduction with zinc and wa�er gives 

(A) Acetylene · . (8) Ethylene 

(C) Ethane (D) Methane

PNT-A-23/2505-(6/10) I Page t1 / 32 
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II 
26. 

27. 

. 

28. 

f�yf�f@ct � � � 61141-sl4i14 � � � ? 

(A) 3il�Bl�lfq<1 Q,0f>l�M (8) �

(C) � (D)
�f-i1("i 't("Chl�.H

Which nf the following will not give iodoform test ? 

(A) Isopropyl alcohol (B) 

(C) Ethanal (D) 

�-2-�t� 

. {A) . �l�J.](1 Q,�1�<1 . (8) 

(C) d�ll4f\ Q0t>lt;M (D) 

8ut:an-2-ol is a 

{A) Primary alcohol \ffe( 

(C) Tertiary alcohol. (D) 

f.:1kiR1f�sk1 � � � � � 'FH�TIM .t" ?

(A} CH30H (B) 

(C) CC1
4

(D) 

Ethanol 

Benzyl alcohol 

. � 4i O .g;ft -QC"'=fi 1 (; (1

.s1{�1�f�c:fi �1�<1

Secondary alcohol 

Dihydric alcohol. 

CHC1
3

. cs 
. 2 

Which of the following is soluble in water ? 

(A) CH
3

0H (B) . CHCI
_3 

(C) .CC14 (D) CS
2

I INT-A-23/2505-(6/10} I 
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II [ 118 J 
29. fsf;R<114·� cf,1 � °B@.lf M' t'

(A) 7

(C) 6

(8) 8

(D) 4

The total' number of crystal systems is/,·.
(BJ 

(C) 6 (D) 

Q Jf�kif�f@a ll" � � �t;«4l-iicti � t- ? 
(A) � (BJ 

8 

4 

(D) c=ITTfT

Which of the following is a covalent solid ? 

·!r 
Iron

(C) Sodium chloride 

J.13}/. Diamond 

(D) Copper
. .

.

fct,«) � q,1 � �f�d �fq;,1 .B<tj .. fl � �414.:q� B@H "ITTm t
I 

�5. 

(C} 8 

(8) 4

(D) 12

Th� coordination number of a metal crystallizing in a hexagonal clo�e 

packed struc�re is 

� 

. (C) 8 

(B) 4

� 12 
f INT-A-23/2505�(6/10) I Page 13 / 32 
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32. f-1Yf�f{sa -q � � � � � t- ?

(A) . � + lltj,�<1

(B) . P-1\Ql�<?t 3i0:hl�<?t + � �6¥1�(1

J_SV' c#11{14il4 + Q.fil2(-, 

(D) • cfilci\·+ l�l�l<l�s + f�f(."ico-1 2.�l<Wil{l�-s

Which of the following is not an ideal solution ?

. (A) Benzene+ Toluene

(B) Methyl alc<?hol + Ethyl alcohol

(C) Chloroform+ Acetone

(D) Carbon tetrachloride + Silicon tetrachloride

33/ /f-1Yfe1f@ct ll � � 3<441<'1'4 f$i#11 -a f�cf,C'I � t ?

(A) . fcl<?tl�cfi � � (B) fctt:'l� � �.

(C) . "1fle1 3WR . (D) mR '3WR· 

. ' 

' . 

· Which. of the following can pass through semi-permeable membrane ?

� Solvent molecules 

(C) Complex ion

(B) Solute molecules

(D) Simple ion

Cy 'lF;" .18 g '<'!<tilt< �. j 000 g f11<1ai if W"l�I "!@I t o1 a,i !ffi'!. � � t 

(A) 1 'fl�H (BJ 0· l 41<?tt1 

(C) 0·1 � (D) 0·5 lil<"IH

! INT-A-23/2505-(6/10) I Page 14 / 32 
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II 

. 35. 

f 118 ]

If 18 g of �uco� is -dissolved in 1000 g of solvent, then the solution 

is said to be 

(A) 1 molar
/ . . 

0·1 �olar 

(A) � � 1 o/o �(1_cf,lfl

(C) . � -q- 1 % NaCl

(B� 0· 1 molal
. \ 

(D) 0·5 molal

(D) �lf 1% �

Which of the _follo�g will have hig�est boili�g point ? 

(A) 1 °(o glucose in_ water 

.�o NaCl in·water

(B)

(D) 

1 % sucrose in water 

1 % urea in water 

36. f"1¥=-ife1f@r1 � � .fc:fiftcfi 3-llcffi"jcf,{01 � Q«l2.)-1 mto � � ?

37. 

. . 

(C) CH 3 CHOHCH 
3

(D) CH
3

0H

. Which of the following gives Acetone on oxidation ? 

�-
CH

3
CH9 . (B) C

2
H

5
0H

(C) CH
3

CHOHCH
3 (I?) CH

3
0H 

. �cfiU-s{l � cf;T fsti41�flM 1C"lcfi t

(A) -NH- {B) -NH
2 

(C) NH
3_

(D) NH
+

3 

I INT.:A-23 /2505-(6/10) I Page 15 / 32 
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D 

38. 

The functional group of secondary amine is 

Y�NH- .· (B) -NHQ

(C) NH3 (D) 
' 

CH3-fH-�:cH3 cf;T IUPAC � t
. NH

2

(A) !.llNH � (B) 

(C) �-2-� (D) 

The IUPAC name of CH3-CH-CH3 ·is. I 
NH2

(A) ·.Propyl amine {8) 

NH +

3 

3H�ttl!.11NH �. 

�-1-� 

Isopropyl ·amine 

�ropan-2-amine {D) Propan-1-amine 

[ 118] 

39. �i�JHl � cf,l' � f!.111-11:g � �-� 1R f.-iJ;if<1f@ct.ll �
� � t

AO. 

(A) . � ��-1 :

{C) . � ��o-s,0 � 

· (B) � a�ikH � 

. (DJ. �.��� 

Prim� amjne on reaction with Grignard reagent gives which of th� 
following? 

(A) An alkane

(C). A secondary amine 

(A) 

(C) 

{B) A higher amine 

(D) None of these

(B) 

(D) NH
3

I INT-A-23/2505-(6/10)) 
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II 
Which of the following is the most basic ? 
(A) C6H5NH2 (B) (Cl13 )2 NH

(C) (CH3 )3 N· (D) NH 3

- [ 118]

41. f�CifHf�a -q � f�flcsl'\ �- � ?

42. 

Which .of the fo�owing is Hinsbeig reagent ? 

(A) . . Benzene s�lphonic acid

(B) · Benzene sulphonamide.

(C) p-Toluen� sulphonyl-c}:lloride

(D) . None of these

.� Qtllllzjl�:S cm� Br
2

/KOH "« � '1fTffi � °m HklfMfufa -q

$ ciR"ffi �. ? :

(A) Q.ffic?.1'1 (B) �MM�

(C) Qwc:ws(>,�-s (D) 3ililf..tlll

Which of -the following 1S formed when acetamide reacts with

Br2(KOH? 

(A) Acetone ' :.(B) Methyl amine 

(C) Acetaldehyde . (D). Ammonia· 

NaCl-� '11Hl4 mR -� � 3i·Q�l� � � � f..1Cif�f©a ll �- cfil;f_ 1jm 

m-J ?

(A) cWn<l1'1

. . ·. 

(B) tilf.slf4

(C). «!f.s414 3i4<-i' I� (D) (;l�-§)'111

I INT-A-23/2505-(6/10) I Page 17./ 32 
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II 
[ 118 J 

of the following is deposited at)Which - cathode on electrolysis of

aqueous NaCl solution?.

(A} Chlorine � Sodium 

. (C) Sodium _amalgam � Hydrogen

44. !;:iCifMf©a ll � fqM�� -q � q;T �iili&H cfirn t ?

(A) � �4ll6l

(C) . H2 0 3,UJ

(B) � ��q�o.l

(D) · -'ffiGf *" oR

Which of the following conducts electricity in a solutiop ?

(A) Electrolytes
(C) H 2 0 molecules

(B) Non-electrolytes
· (D) · Copper wire

45. A, B, c -31tt ·D mq.an � 4Hcfi �l-lcfs:ls � sti4�1: -3·05 v. - 1·66 v,

- 0·40 V � + 0·8-V � t1 � � .tmj cf,1 3iqcfi,(OI � �

�m? 

(A) 

(C)

A 

C 

(B). B 

(D) · ·D

The standard electrode potentials of A, B, ·C and D metals are
_3:05 V, - l ·66 V, - 0·40 V _and· + 0·8 V respectively. Which of the

. --: 

following woul� have the highest reducing power ?

(A) A

J9( C

(B) B

(D) D
! INT-A-23/2505-t6/10) I Page· 18. / �2 
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II __ 
111s i 

46. . � illHcfici:I � cf;f �-�-Hicfi" mnf t'.

(A) l/ A

(C) l xA
(B) A/ l

· R(D) 
A

Th� cell constant of a conductivity cell is 

�l/A
(C) l xA

(B) A/l
R (D) 
A 

(!j). mMf�i!i, � 2A+B-->C � � 'fit f�8f..tf@a
. f-1{c\NH � � .ficfictl t ? . . 

(A) 

(C) 

1 d[AJ 
. 2. dt

+d[CJ
. dt

(B) 

(D) 

-d[BJ
dt

The rate of chemical reaction, 2A+B-+C can be represented by

which of the following ? 

1 d[A] 
2 dt

+ d[CJ
. .  dt

(B) 
: -d[BJ

dt

All of these 

48. � ,trfHllf�ch � cl> $r til.ilcfi<01 'cfiT P1YfMfunr � � f.i(c\fcu1 Ffi<IT

� 't:

� = K[AJ[BJ2 ·. �A� .fii�01 cfil" � H!iJcfi{ B cfiT .fii�o1 � �
. . 

m�, mw:r ·.

(A) �-��'t (B) Wfl!"ITT-mfflt

(C) � °ITT -if@T i" (D) . ;ft 1J-,T � � t

I INT-A-23/2505-(6/toi j ·
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The rate law equation of a chemical reaction 1s represented as

Rate = K [A] ! B J
2 . If the c-0ncentration of Bis trebled keeping that of

A constant, then rate becomes 

(A) double (BJ trebled 

(C) quadrupled (D) nine times
' . 

49. · � <1.a14f;,� � qj1 wr � ·H8f<1fma ll � � q-{ R'lh-

ch<ctt i ?

(A) c=rrq

(C) ·"GR

(�) �. 

(D) �

The 'rate constant o_f a chemical re�Gtion depe�ds upon which of the 

. following ?

/Temperature

(C) Weight

50. � cf;1" � 3-11¾1�:S 3i4fc:fi i·

(A) f�:g{l�c

(C) ·414<1�l

. . 

.(B} Mass 

(D) Time

(D) · ciil¾l�c

The imp�rtant oxide ore of iron is 

(A) Siderite .. � Haematite 

(C) Pyrite 

{C). Na202

(DJ Bauxite 

(B} Cl
2

0 

· (D) Na 20

_ 1 INT-A-23/2505-,6/10) r Page 20 / 32 
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II 
In which of the following oxidation state of O?(Ygen is :+- 2 ? 

(A) (B) C120 

y �a202 (D) Na29

52. f��f�Ma it � � {f�41Qfckq 3c¥tic. � � ?

(A) He

.(C) Xe 

. (8) Ne· 

{D)- Rn-

Which of the follo�g is a radioactive .:ioble gas ? · 

(C) 'Xe

(A) He

(C) -Ar

(B) Ne

(D) Rn

(B) Ne· · .

(D} · Xe

f 11s I 

By which of the following noble gases . the maximum number of 

compounds hav� been formed ? 

54. 

(A) He {B) Ne 

$ Ar �Xe 

f�1.if(1f@a -q � � � �f11cti.l ?

(A) S02

(C) BF 
3

.
(D) CO·.2

I INT-A-23/2505-(6/101 I Page 21 / 32 
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II 
Which of the following is � polar compound ?

(A) so 2 (B) · S0 3

J) BF3

57. 

(A). Ni 

(C) Cd

(B) Ac

(D) · Au

Which of the following is a member of first transition series ·? 

(A) Ni

(C)- Cd 

(A) 

(C) 
. 

. 9 

[ 18Ar] 3_d

(8) . Ac.·

(D)". Au.·

. (8). 
· . . 7 2 

_[ 18Ar] 3d 4s .. 

The electronic configuration of Cu2+ 

(�= 29) is-

� .I 

(B) 

(D) 

f�,:.:iffifuu1 it� fi;f;fl4 � � � ? 

"(A) �fh1t'1 (B). 

(C) (D) 

[.18Ar ] 3d7 4s2 ·

·[ 1s·Ar] 3d6�s2 4
p

1

. " . 

. "il4Ml-f 

r 11a I 

• • . . • i. 

IINT-A-23/2505-(6/10) I 
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§ 

Which of the following contains ester linkages ? 

(A) Terylene (B) ·.

(C) Teflon (D} 

R yfHfuk1 ·'t) � cfil.l c,fq' � <{1rfkcf; t ? 

. (A) . -il4Ml1 6 

. (C) a1�M1�2 

. 
. . 

(B} 

(D) 

�ylon 

Bakelite 

" 

'il4{1H 6, 6 

tff:crr.m. 

Which of the following is a thenno·setting pl�stic ? 

(A) Nylon 6 (8) Nylon 6, 6

�Bakelite J.9) P.V.C.

59. 

60. 

HklfMf€i<1 -q- � cfil;f q)�CP-11�,$ � ? 

(A) 24fil'i (B) '"11'4<111 6, 6

(C) 2RMl.:i (D) 4$Ht�2

Which of the following is a polyamide ? 

(A) Teflon � Nylon 6, 6 

(C) Terylene (D) Bakelite

(A) (BJ . fxh::i,�fc::i . 

(C) qfuftlMl-i

j INT-A-23/2505-(6/10) I 
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. 
. . · d antacid?

Which of the following 1s use as an 

(A) _Magnesium hydroxide

(C) Penicillin

(BJ 

(DJ 

Pbinacetin

Sulphanilamide

� 61/ fief,�,� t; �

(A) 

(C) 

Qf M4iflch t,l��)ct,l�'i .. 

q[{11�l{{ 41fitch 

Saccharin is a/ ari 

. (8) 

(D) 

. (A) Aliphatic hydrocarbon y/ Swee.tening agent·

(C) . Polynuclear compoun� (D). Sugar .

62. f.:i1::;if e1f@a -q- � fcfi�cht d4l!'Jll m,.=r � � -q- ffl t ?
..... ---· ., 

Which of the following is used as a soap ?

(A) 

(C) "(D) 

(B} 

(D) 

I INT-A-2_3/2505-(6/10) J
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I 

. Which of the following is antiox�dant ?

(A) . Lecithin (B) Citric acid

(C) Vitamin E (D) · All of these
64. � � cm_��� ar.t 3WI

(A) � � 1ft filR � cfi«fr t'

(B) 

(C) . � tii�o1 1R � qi{ctt t'

(D) ���

· The half life �f a first order reaction

(A) . does not depend upon rate constant

(B) : does· not ·depend upon initial c<>ncentration

·. � : depends u_po_n· ini�ai..concentration __· .. ,§/ all of thes� . . · :
.

[ 118 ] 

65. � cfft. � � at4'f.:1c4·1 � f�Jii0� 1t Pt�fMf@a 11' � -� ao1<i;fi cfiT m..
mt·? 

{A) � cfiT � 413:S.
(

(C) f;::i�('-t cfiT � 413:S<.

(B) · 1<lf��'114 q;r � 413:S< ··

· (D) . �fl.:i'i cfiT � 41d:S<
. 

. 

Which of the following catalysts i� used_ in·the 1:13-anufacture ·of NH� by.

H·aber's process·? . · · 

. K Finely .divided iron (B) 

. (D) 

· Fin�ly diV1ded .molybdenum

. ..u( Finely divided nickel Finely divided. platinum 
. . . 

1INT-A�23/2505-(6/10) I. 
. 

. 

Page 25 / .. 32 

Previous Pathshala



[ 118 ] 

f�kffMf@ct it � � � cf; fflT cfllMi�i) fqM�� q)f � � � f. 1

(A) .. qQ_Jcf){UI (8) �G'1

(C) 3141(>'1

By which of the fallowing processes colloidal sols are P':rified ?

� 
. . 

� Pe:tisation

(C) Dialysis

Coagulation 

(D) Flocculation

. 67. 298 K � � ll'T11 ill{cf>lM � � f-11.rif�f©a � � � � q:;r·«cs(� �

3tllk1'1 � rnr ?

� CH4 

(C) CO2 (D) NH 3

The highest volume of which of the following gases would be 

adsorbed by 1 g of charcoal at 298 K ? 

(A) 

{C) CO 2 

(C) �

(D) 

CH4 

NH-.3 

(8) . �. 1.:il.:ii

(D) �.
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II 
Pyrolusite is an. ore of which of the following ?

(A) 

(C) 

Magnesium 

Zinc 

(B) Manganese

(D) Iron

[ 118 } 

69- -� <$° �lcffil�.s cf;T chli1<1 <IT cfil�<i l-fl.fl<ffil�S * ml mq � 3iclifrl cfiB

ci\"�q,��lffi t

(A) 

(C) 

(BJ 

(D) �

The _process of reduction of a metal oxide by carJ:>on or carbon 

monoxide to the metal is called 

� . Smelting · · -�o_asting

(C) Calcinatioil (D)· Leaching

70. f,.:p::;'!f<..tf�d � (l � mq. � f1&fi�OI * � · fil4'11$:S· m <flT 3q�)i1

mort? 

(A)

(C) 

Cr. 

Cu 

(BJ· Ag 

{D) · Zn 

Cyanide process is �s�d for· the extraction of which of the followi�g 

·metals?

(A) Cr (8) Ag

(D) Zn
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&O� - iJ / SECTION - B 

� ,, )1:;r / Short Answer 'fype Questions

'RR° =H&/.11 l � .20 ?f¥ 3iU14 f I t,,;/J· l O 1IRf '1;- � i° I JIR/ch CJ;" #rfr

10 X 2 = 20 

Question Nos. 1 · to 20 are Short Answer Type. Ansu>er any 10 questions. Each_ 

question carries 2 ·marks : 1 0 x 2 = 20 

L /4 3>1�� fi>l<i«i "'1f t" . ? � f<k1�� <iiT iilmctl . <f � ll'6I(

2. 

2 

What is molal elevation constant ? How is it related to molarity of a 
. . . �

. 

solution? 

What do you understand by abnormal molecular mass ?

What is peptization ? 

. . 

�ntt.01. � � t ? � aG,�<01 �,

What is sorption ? Give an examp�e.

What is slag ? 

I INT-A-23/2505-(6/101 I
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2 

Nobel gases have comparatively large atomic radius. Why?

;/ VMRiro'f!lli° ?d�IWl�l 2 

What are cry��alline solids ? Give example. 
. . 

· 1/ �-� � am� (-44$iM t ?
2 

9. 

What do you understand by point defects ? 

z 

What· is formed when benzene reacts with ethyl bromide m the 
presence of anhydrous AIC� ? Give equation. 

2 

What is power alcohol ? 

2 

Wh·at are the important oxidation states of lanthanide ele;ments ? 

y � \'lqUI ""' "1fG(1
.
\'lqUT if 31'i!< <l'l;;tl'l I 2, 

13. 

Explain the difference be_tween a double salt �d a �mplex salt.

Give two. examples of syn���c rubber. 

I INT-A-23/2505-(6/lOt] 
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14. -����f?

What are preservatives ? 

tt"11Q I 

increasing order of their basic strength. 

What is deriaturation of proteins ? 

Give an example of a solution of a gas in solid. 

yai,�u]<.)f.,.., f<1<.'1'1't f'lm � t' ?
. 

. 

What are isotonic solution ? 

What is soap ? How does it act in cleansing clothes ? 

/.'8'H1<6<•1 AA "H >l1<I 'Iii��� <ITTIT t- ?

How are metals·refirted by Bessemerisation·?

[INT-A-23/2505-(600) I 
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:itef a+ifh:t 1'R' / Long Answer Type Questions

fTR" '*i&41 21 W' 26 � 3itfl4 'fTR f I fc,;;jl' 3 J1RT tf;' � � I Rr4ili C1i"

fFn(' s arc,; Allfnr1 t :.· 3 x s • 1s

Question Nos. 21 to 26 are Long Answer Type· Questions. Answer any
3 questions. Each question._ carries s marks : 3 x 5 = 15

21. 3TI'ifst>qf cf; � tr{ Wl q;r � � � � t ? 3il{�f;iqt1 flifiqi<UI

�t? 2+3

.. What is the effect of temperature on reaction rate ? What is Arrhenius 
equation? https://www.bihartopper.com 

22 . .,.-�-<t<alqAcfi. � � t" ? � �-<lfll�f1� m'f cfil G!�lcU, q;r � 

cf;tl 2+3 

What is electrochemical . cell ? Explain the structure of an 
elettrochem1cal .cell. 

�Y ( i).

(ii)

3 

2 

Explain . the principle of manufacturing sulphuric acid by 
coirt.act process. 

Write the reaction of cone, sulphuric acid with oxalic acid. 
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24. 

26. 

"�i�40I �l�·�i c):; 7.Af'M, .3ii'qD�ch14 � "{'"1TR' iJff t I" i:7.WY-JT � I 

[ 11.g J 

5 

"Compounds of transition clements arc paramagnetic a�d coloured." 
Explain. 

(i) 

(ii} 

How would you distinguish between the follo�ing compounds by 
chemical test ? 

(i) 

(ii) 

Formaldehyde and Acetaldehyde 

Acetaldehyde and Acetone. 

,

"Fo�clbehaves both as an aldehyde and an acid." Expl� .. 
.

. 

. 
. 

I INT-A-23/2505-C6/10t I 
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